[[normalized x? probability ]

Entries

Entries
i .| Mean
Std Dev

Ratio

: o » i i
%2 4 6 8 10 12 14 16 18 20

X2 o Prob(x?)
m=m== DQM_original_1000evt
m— DQM_fitted4_1000evt
A 2r = 5
5 B3
< 1.
= !
% 1. 2
v —
1. 2 3
1. : 5 : v
(Y LA 2
o best) .".?’.'?'.'”,'.'.". ... 3’9‘.‘.’._@4.. .
: o 1 I# ;
v : : :
------------------------------------ 0 “r"n..—-.um anreay o7
1| R : e
I 31 O S S A
o sopsbd b o~ ;
3 ; : : ; T 12
c : * il E:
* } : H (L : ‘
R I S R T B R T 2 3
n TP n (PCA to beamline)

< x2/ndf>

Ratio

10 1 10 102 pto3
:
< 1.5
=
A
-
g | = R [ PR £ Y
Q)—
L}
v 05* ------------
FLE
ot ----- -.‘:’-'u.’c;#’;ﬂ'" 1| P
0¥ | REPETRETEPEPREPEPERREPCE 1 EREPES
i

10




	Contents
	Page 1


